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Wait here, and you’ll be able to meet him.
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= If you wait here, you'll be able to meet him.

Press the button, and the door will open.
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= If you press the button, the door will open.
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Get up early, or you will be late for
meeting.

&I Zojldt. %X ¥28 L= 220 =& XO|LL,

= If you don’t get up early, you will be late
for meeting.

= Unless you get up early, you will be late
for meeting.



Turn the heat down, or the food will burn.
2T E 2FId J1FX| o™ S2j0| & Ao|C,

= If you don’t turn the heat down, the food
will burn.

= Unless you turn the heat down, the food
will burn.
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To drink this water / is safe.

— It is safe to drink this water.
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To watch a soccer game in the stadium /
was exciting.

— |t was exciting to watch a soccer game
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In the stadium.
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It’s very important_to study English in
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Korea.
SO A FOIE §EOI= A2 | T LULC.




L 2%f0| Fojgt foR YALO| 07t Y XIBHA| Of
ZL2ol= UBLE O 2 toB P AL Q| ‘for + 2
2’ YENE olo|Aol OB HLiCt.

‘for + 2X 2’0 YENE 5t F LA TS 2}
d& L.




dangerous, difficult, easy, hard,
important, impossible, natural,
necessary, possible, safe, useful,
useless &

It is necessary for you to have a dream.
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brave, careful, careless, clever, foolish,
honest, kind, nice, rude, silly(Aj2to|
£), smart, stupid, sweet, wise S

It is very kind of her to help me.
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It was good for you not to buy it. ~37F =
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It’s good of you to carry the old man’s bag.
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This book is too difficult for him to

understand. 2A0IF= Fof
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The teacher asked me to be back before
dark. s == : 0|0] el =0
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(1) Turn the heat down, Or the cookies
will burn.

(2) Cook for your parents, and they will
be very pleased.
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(1) Read this book, and you’ll learn a lot.

If you read this book,
you’ll learn a lot.

(2) Close the window, or the rain will come
in.

= The rain will come in unless you
close the window.
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To wear a heavy coat in summer is foolish.

= |t is foolish to wear a heavy coat

iIn summer.




4. WS F HE F ofHo| UX| 2= HE D2AQ.
you—»foryou

(1) @ It is dangerous @& you @ to give your
information @ over the Internet.

(2) @ It was wise @ for ® him @ to accept
the offer. for— of
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She told me not only her phone number
but (also) her e-mail address.

= She told me her e-mail address as well
as her phone number.
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Not only / but (also) she is very happy.
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My hobbies are to take pictures and to
play the piano. il S
Lto| F0|= AR ®|7|Q} Ijof 913=0}7|0|LCt.
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He was excellent both in sports and in

studies. Nsol aa MaAY
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¥4 the place Where in[at] which
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ol the reason Why for which
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Paris is (the place) where | want to visit.
o2|= W7t $E2011 &8 30|t
¥ MM AL the place & Jis

This iIs the house where she lives.

= This is the house in which she lives.
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Do you remember (the time) when |
bought the hat?

L= W1 22X 48 ME 7140142

¥ MM AL the time MEF s

Sunday is the day when we go to the park.

= Sunday is the day on which we go to
the park.
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Do you know (the reason) why she was
angry?
= Do you know the reason for which she

was angry?
H= 7124 210t B=X| 1 o||]= ot4?

% 1. M& Al the reason Mt s
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Please tell me the way you solved this
problem.

= Please tell me how you solved this
problem.

= Please tell me the way that you solved
this problem.
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(1) This house Is not only clean but also

very chea|oly.
cheaply— cheap _
(2) Not only | but also Tom have a meeting
tonight have— has

3) He knows the way how computers work.
the wayL} how &= SILI2t &

(4) This is the place which | was born.
which — where EE= in which

(5) Nobody knows the reason which she
quit her job. which — why ZE= for which @
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(1) She can play the violin as well as the
piano.
= She can play not only the
piano but also  the violin.

(2) Friday is the day when many people
feel happy.
= Friday Is the day _ on  which many

people feel happy. @
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This is the famous valley.
+ | took nice pictures there.

— This is the famous valley where | took
nice pictures.
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If | were rich, | could travel all around the
world. ot Lo X1, M MAISE oP Y £ U2 b,
= Were | rich, | could travel all around the world.

= As I’m not rich, | can’t travel all around the

- world. U= £X7t otL7| WEofl, M MAE oY = 31"-}./
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" If I had the bike, | would lend it to you.

Or LIt XM AHE 2] UOH, Lo J3X& 28 E Hgl.
= As | don’t have the bike, | can’t lend it to

you.
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Mary should[ought to] have called to her
mother.
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‘Should have + It HE AP =
- ‘should not have + Mt HE2 A’ FEfZ TFL|C,
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He should not have eaten the fast
food.
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She should not have forgotten his birthday.
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She cannot have forgotten his birthday.
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She may have forgotten his birthday.
dEE 12| ¥Ed LASX| T BELL.

She must have forgotten his birthday.
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MA|L.

(1) ’m poor. If | _were[was] rich,| _ could

buy a new house.

(2) She is very busy. If she had time,

she _ would practice more.
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(1) If she were here with me, | could be
very happy.
=As she isnt  here with me, |
cannot[can't] be very happy.

(2) As | am so busy today, | can’t go to the
movies with him.

=If | _ were not so busy today, |
could ~go  to the movies with him. @




71l 11719} ‘shoule
BN
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(1) A: I'd love to, but | feel too sleepy.
B: You should have gone

to bed early. (go)

(2) A: | have a stomachache by eating too

much.
B: That’s too bad. You should not
have eaten  the food. (eat)
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It seemed that the children were happy.
= The children seemed to be happy.
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It seems that he has lots of friends.
= He seems to have lots of friends.
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It seems that Tom is the criminal.
= Tom seems to be the criminal.

TomO| E2121 AXE H2ICt,
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It seems that Tom was the criminal.
= Tom seems to have been the criminal.
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to pass the English exam.

in order to pass the English exam.

so as to pass the English exam.

so that | might pass the English
exam.

in order that | might pass the

English exam. @

| studied hard
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(1) I’'m poor. His dog seems to understand
his orders.

It seems that his dog _understands

his orders.
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(2) The children seemed to be very happy.

It seemed that the children
were very happy.

(3) It seemed that he had been ill.

= He seemed to have

been ill.
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| got up early so that | could go jogging.

=] got up early to go jogging.

=lgotupearly so as to gojogging.

=] gotupearly in order to go jogging.

=l gotup early in  order thatl could go
jogging.
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I'm very sick. + | can't go to the meeting.

= |'m too sick to go to the meeting.

= |I'm so sick that | can't go to the meeting.
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That table was too heavy for Jane to lift.

= That table was so heavy that Jane couldn't
lift it.
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My cat is very small. + | carry it in my
pocket.

= My cat is small enough for me to carry
in my pocket. 20T £

= My cat is so small that / can carry it in my
pocket. the cat& 14 &
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100 ... to ~ |2} S| =

T ETE ZX|HAM QEFE2 o{=2 24Z Al +
=Y + TAH=E B0 SULL

| don't know. + What will they do next
weekend?

= | don't know what they will do next
O|2AlI F A
weekend. Sl S e
O|EE RYE OINEE HIO| 5

L= 50| O Fo| $X& LX| T AL ©
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O|ZAIT} FOIY FLE Q2E0| ojEa IUE

Do you remember? + What is in the box?

= Do you remember what is in the box?
O|2AHZFEO]) TAL

TLUL 1 X0l FRO| O USXK 219 ELN?
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't00 ... to ~ |2} ZIEo|2 R

2rHo|2 =& o= FHO

think, suppose, guess, believe, imagine T
O] TAIL UL [Moll= TSR E2| AR AE BT
O| OH 9tO & O|FA|ZLICH

=& think FALIL U&0 52

Do you think? + Who is he?

O|SAIE T QO Z O|FAIL
= Who do you think he is?
[F0{+T AL ol

FAQ I} P 2R ©



100 ... to ~ |2} ZIEHo|2 2

<9ZEAP| Sl B &>
T =02 BXHM =S AL il whethergE Al
§ 01 Tif[whether] + £ + TAH S| =0 &
= LILCY.
o2 ‘~QIX|" E &L,

~2IX| OfdXl" 2l 3= ifornot? & ==
gi1l, whether or notO|Lt iff[whether] ... or not
O & MO} gL,
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| wonder. + Does she like you?

= | wonder if[whether] she likes you.
MZAIR 9" FO FAE
if&19] F0jQ| £=0] S5

L= d3|Jt HE FOI0=X| 3=0tH.

= | wonder if[whether] she likes you or
not.

= | wonder whether or not she likes you.
L= 417t 1S FOI0t=X| otdX| 330

* | wonder if or not she likes you. (X) ©
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1. ChkE S, 389 2o} LHHX] U} CiE si-=?
@ She is clever. She can solve the problem.
@ She is clever enough to solve the problem.

\/® She is too clever to solve the problem.
@ She is clever, so she can solve the problem.

® It's not impossible for her to solve the
problem.
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EEEE]

2. OIS =30IM X7} 01248t S E & S0} HIEA| 21X
MA|L.

(1) The backpack is small too for him to get
all his stuff in. small too — too small

(2) Do you think who will win the game?
Do you think who — Who do you think
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EEEE]

3. CHe 5 58 8 ENOE IS 1, WSS 2Hsio] &
A2,

(1) | have no idea. + What does this word
mean?

= | have no idea what this word means.
(2) Tell me. + Did he like Jane?

= lell me iffwhether] he liked Jane.
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I lasif + 73" A
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1. Tas if + 7F8 & tAH 2] 2|0|2} BEY
Ol KIS 2 AIFO| BHYE|S 1SS L
EfHUCLANE=E dF X 20, O] J8 A
21 I Y [ A EHUCH
BEI= & + asif[though] + Y + TAl
AtHG = LHEHRLCH HEBoE MET M
In fact(A&E ---OIlEh)~ E¥2E LIEME LY
oA ‘DRX| -1 KB OF BLICH
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2. lasif + 788 dtH) ET2 9

He looks as if he were sick.
BIXH A X WHAIH|

1= OHX| OFE R E =2l

= In fact, he isn't sick.

SXH ALK
Atad = OtZEX| 23Lt.




WUHAIH: I AHOME FolQ £
O] Y&UEIO| be TAIS wereZE 5
He talked as if he were friendly with her.
AHAIX|

O OHX| Ot 219 20X 2 2Ct,

= In fact, he wasn't friendly with her.
A HA|H
At = L2 FI0HX] 24QULL.




Tipl las if + 788 WHEHE |

TEEOTHAIN &M AIEL] B L= LHEE
LIEE LI LY.

BEI= IF& + as if[though] + £ + had
+ UHEAHE LEF L

O3 ‘OiX[ - R XM o= L}
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He talked as if he had known everything.

2O M AN,

R

I8 WA
He talked as if he knew everything.

dl
nil

PO X2 ALHIFt

% I &4 UA=E Ak



I A<4 while

1. while2] 2|0|2} A&

=& AL while2

Hlul = Z0]|7t Y= J|2t& LIEHE [ SU )
.07l Y= SO0’ 9] QOIZ, = JIX| O]

SAIO] 012 M SLC.
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While | was waiting for him, | had coffee.

ot 18 JItdl= T2, U= HIE 0.

Mom was cooking while | was drying my
hair.
L7t HE|E &5 1 U

1]

T 2Ho| E0H= 25014l AN
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HES O|F= £ JHX| L& LIERE T MLCH

O ZQO|I= 0A1& “--Ohi= BHRI0|, ---O|K|2¥
o2 gct




While I like classical music, my friend
likes rock music.

L= IIMQeta FORoH= B, L 217
oiC}

1]

= 2212 5o}

While Jane wanted to become a singer,
her parents were against it.

Jane& Jt==Jt |11 &0 UX|2, IS F2FL N0
2HCH OFAL T
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2. OILI2] E=AlL 5 KX 20|
[HE LEHUH = OS] S5 AHL

= JIX] O8] ojO0|& M & %= UsLCE
El&Al o= L}EFS mj Cl= ejo|= A2l ojf
_ _ -:0]7] Ui =01,
as -2k Y, ---st =ZH0]|
-0|=0]
since -8l 0|2 (A=) --0]7]| {=0]|
- 5l= HHHO]|,
while -5t QU= SOH0j| ,
* 0| x|t @»




He held the rope tight as he fell.

1

Zi0) ES T HQUC

1]

& 0fX|

1]
[

As she lives near us, we see her often.

JuE= Q2IQt JHIto] 7] M), Lal= JWE KI5 =
Ct.
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o1 X 24 2 _ A HA|H
She has been busy since she came back

from holiday. % BE since BOAME WHANE
MO, FHOME HUIATE &

dUE=E FI10M S0 O|FXE A= HHUL.

Since we have no school today, we can go
to the movies.

QB 2 LIt M| MBO|, YUS 2 2+ YLK
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As soon as he comes, we'll start.
S1XH A| K|

17t  XjOX} &&= AIEE 2O|LL.

I'll wait until Jack arrives here.
o1 X A X

JackO0]| 0{7]0j| ==&tet |7} X] Li= 7 |ICI2! ZA0|LCl.



1. CHS B30l Hizio] S0iz YU 3E n=AlS, a0

(1) My uncle always treats me as if | a chi
®be @am @ is+@ were G had been
(2) He talks as if he E.T when he was
young. 7}&H 3|74k
@ meet @ meets 3 met
@ has met /G had met
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2. £ 30| 22 o0} EIES, HIZio] S0fZ Un o
2 ML

She is talking as if she didn’t know
anything about it.718¥ 217

= In fact, she knows something about it.

©
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3. L& 2= 2HjIA 52 ZiE J1=EH?
They talked among themselves

(while, since) they waited in the lobby.




4. OIS 232 L |2UE R A 2.

He was listening to music while he were
driving to work.

m 1= X2 S36k= LLH[S2H0l] S24S =31 AL
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Contents I #<$Atalthough
1. although®] 2|0|2t FEHS)
2. TH . YEE LIEH= &AL 20| H @)

1. lusedto + TA
2. lusedto + TA

3. lusedto + A
o

I lusedto + ALY |75
% 2| o|0|©
121G 1t fTwould + TAKNE 1©)

21t Tbe used to + B AL



I A<} although
1. although®? 2|0|2} BEH
SE 2| E= Al althoughs

BEtEl= W&, 5 ol71X] 28t Z1tI} O[O X|=
TEIA SAIES M2 AZT3S [ ALS S LCE

o2 CHIS --OIX|E - YOIE ETOI 2

= L L
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| O|0|E T = even though= LIEILY
S |SAHY A= though?| B40] M IL|CH.

Although[though] she is poor, she is very

happy.
HIE JUH= 71-H01X| B 0| & g =S Ot



Though[Although] he has lost his job, he
still wastes money.

O 4AYS0IT ETOLI, OfX0| E& 'GHIPHCL

7I-I

Even though he left school at 17, he
became a great musician.

HE J= 17M0 SfulE S /AX|E, = EF88 &Y
1t E| LY.




2. T4 . T8 LIEI = &=5A12] 2|0] "]l
T PEE

althoughZ} JQ=4ll, 11 2|0] X}o|
SOIE = AL

x4

| will join you if I'm free tomorrow.

Lot i BHHOILHE Lol &R E Ao|.
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| will join you unless I'm busy tomorrow.

Lot LHE HIEX] 403 Lol &2FE X oih.

o
| will join you although I'm busy tomorrow.

Lot LHE H|S i 21 OfX| 2t Lol 3 /& AO|LL.
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He used to walk to school, now he goes to

school by bicycle.
= o XMojl= 2tnlofl 20 L =0, X222 XIMHESE Efl
G ul Pt}

There used to be a big tree here.

OiTofl= oo 2 LI Bt ORI UAULL. (XIS2 8iLt)

©

% There was a big tree here, but now it is gone.2] 20|}



2. lused to + TAHMDG 4l Twould + TAIR'B

- Ol2 UL 2= =0 =F, lused to + TAMR
B9 Twould + TAIMG 2| BT Atg 2L L,
CioF dFAHO| SE& LELR = lused to + &

At B dt Twould + TAMESE 12l HY S O JH5 0}
X8t AtHO| HEHE LIELE M= Twould + TAHA

Y12 & = syt
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AUH S

| used to get up early when | lived in the
country = would get up

L= AIZ20A & M= €% 2oLz UL (XIg2 1
Xl &LCt.)

WUHC| YEN
There used to be an old pine tree in this
park. *"ould be2 H}R 4= ¢i2

0‘II""’II" Ol ™o A& ALIF B 0t AR (XIS

2 iCt.)
©




3. lused to + TAIAG 1l be used to + T AL
-

'be used to + A0 = -Ol= O &=0}
CH 2] ZERULE to= HXIAIE 23T WHEO| HOll
= TAt 2= TT AL 240F 2L,

'lused to + TAIR G 12| XIO|E EBE Tl Hi
ulOff SAIL.
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1A s&

We used to play tennis.

o= HUAS o2 UL

XA SE

(XIS& %X ¥LCt.)

A}

We are used to playing tennis.

L= HIUZA Oh= 0] =01,

) MXIAL  HAL )
He Is used to this machine.

1= Ol I|AIE A8 Ot= Ol 4= 0tLt.



Tip lused to + TAIXG.12 &%

‘used to + TAIHG 2] 8L Ididn't use to
+ FSAIYG | EE= Tused not to + TAIRG O =F
o138 C}
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My mother didn't use to get angry at my
mistakes.

S U= oXo= L] &0 2IE LHAIX] 252 MLt

(232 %= Wit

She didn't use to drink coffee.

dUE oiTolE HIUE OHAX] EUAALE (2 ZZ S O
C}.)
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1. O 232 S8/2= H0}, HZH|| S0z 22 2E
<HI>0M =2} 2A|2.
[27]] if unless although
(1) It's very cold although the sun is
shining.
(2) You will get wet _if you go out now.
(3) Unless you stop eating, you will get fat.
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EEEE]
2. [I= B &l 20| LIEiL= &80] LHHX| Yigt CIE
BHLE=?
@ This river used to be dirty. &E{
@ My mother used to be a nurse. &Ej

\® Tom used to take a nap in the
afternoon. &2t

@ There used to be a famous Chinese
restaurant here. &El

() We used to live in France, but now we
live in New York. &EH @




=

3. 5 30| 22 o7} EIES, Higiol S0i gt o
8 M2,

He used to watch TV a lot.
=He would watch TV a lot.




Lesson8
's0 ... that| 2| 22211}

It... that ~) Z= =




Contents I so...that]2] 2
1. lso ... that;2] 20| &)
2. so (that)itel jO] xjo| &

I Tt ... that ~| 7} & &
1. Tt ... that ~] X PEQ| A% ©)
2. BAEOILIEHHEO




I lso...that]2] 2~

1. I'so ... that| 2l el0j

[s0O ... that| &

o &2l [l F 0] EY T Zi1HE LIEI = S5 Al
2 LC,

a1 ‘LH[0HL] ---OHA{ ~OICF = 2L,




that O|O}7t T30 + can't[couldn't] + T Al
2BI2| BEIZ 20, ltoo ~ to TAIMGIPEL
£ HIHo £ = UsULCL

The roses are so beautiful that many
people come to see them.

SOt 0L OHSCHIA B2 AtEO| 22| 2L



| am so tired that | can't climb the
mountain.

=] am too tired to climb the mountain.

L= US 0N &3 22 =7t 8



The movie was so scary that | couldn’t
watch it any more.

= The movie was too scary for me to
ojOjAte| =
watch any more. Ioj&2] =01

Bt LT FMYUAM UE O & =1 SR




2. so (that)ilte] 2]0] X}o]

2 0H,) T&0f 2= solt so thato] O]11= &2
= O0lA FXEO| oL St 2| EO| LT HAHE
O|oiX|= Ui E&LLC

O| & & UElW= &o| XY 211, 1t&9 sot
o|ll= ZtE UEHW = &0 24,

Oa32 ‘T12fA, 1 Zd =2 gLt
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| was very sick, so | was absent from
school.
L= LHSPLE OHILEA] Sulof 221U LY.

| did my best, so that | won the prize with
the highest marks.
Lh= ZMQ CIUCH O Za 21 SEHOZ 42 Rk
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% FAIE ZTL M=ol P22 & £+ 98

TZEOH &2 O TE It is(was)2f that AtO|oj
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oxiI= o411
AtEE M= that A0 who &,
=& LEE [= that TH&I0] where&,
[HE LIEIR = that L2109 when&,
A2 & LIENZ = that A0 whichE & = U
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CIE2& T T F=& Hlul0l 25 AL,

Mary saw the child in the park yesterday.
@ ® ® @

Mary= oK g #MOlA| ] o{EO|E EULL.

® BE
It was Mary that[who] saw the child in the
park yesterday.

O{X| TAOIA 11 OjEOIE HUH AR MaryR



CIE2& T T F=& Hlul0l 25 AL,

Mary saw the child in the park yesterday.
@ ® ® @

Mary= oK g #MOlA| ] o{EO|E EULL.

@ BX
It was the child thatfjwhom] Mary saw in
the park yesterday.

Mary7t OfH| BRI0IM R EL ALZI0| 1 O{20| AL,



CIE2& T T F=& Hlul0l 25 AL,

Mary saw the child in the park yesterday.
@ ® ® @

Mary= oK g #MOlA| ] o{EO|E EULL.

® B=E
It was In the park that[where] Mary saw
the child yesterday.

Mary/F O{X| 1 6{&O|

HUAH 2 TRHOIAUL.



& B0 T F=E& Hluloll 25 AL,

Mary saw the child in the park yesterday.
@ ® ® @

Mary= oK g #MOlA| ] o{EO|E EULL.

@ 7I-I
It was yesterday that[when] Mary saw the

child in the park.

MaryZ} S 8OA] 1] O{EO|E E U M= X QL.
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2. X2 LIE ¥E
7Ry I
SAl2l | do[does, did] She does play the piano well.
X | +SAMEY 1= notes 2= & 2L
This is the very sofa | have been
HAIC]| the very | looking for.
ax + Al 0|Zi0]| LHI} &2X} SHE Hi= 1

2 uto|LC}.
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| don't like Chinese food at all.
L= & SAIZ 8§ £0lsiA]
=Ll




2. ZTO| CHE ¥

[

T= aH o=

o|=Al F ol

What on earth are you doing here?
O|2A} on earth,

A2 A 0{7|M FAE 5122 QU

= 7?

| .

X |in the world

22
=
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TRy ol
S 01722| =0l | The door opened very, very slowly.
o[t ZZ 22 0} 0FF 5| YFLH
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o17| ULt
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It was Tom that bought her old furniture.
bRl bRl

= Tom bought her old furniture.
(2 MElgh) = 1t ... that ~ L= 72
AHA|
It was true that Tom bought her old
furniture. &3

= True Tom bought her old furniture.

(2T dEl 2 &) = JIF0] . ZIF0] 12
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1. C|= &89 HIZH]| SS2=E S01Z 202 B MA 2.
 He spoke so fast that few could
understand him.

e | was so busy that | couldn't go to
your birthday party.



EER

2. £ 23j0] 22 ojn]7} EITE, Higioll 012 sl
= MA|L.

The rain was so heavy that we couldn’t
climb the mountain.

= The rain was too heavy for us to
climb the mountain.

©
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3. CI= &2 5h= EE g0 2322 M2, (= 2H
F0oiZl 2& =610 & A)
Question: When did he drop by my office?

Answer: Itwas yesterday thatjwhen]
he dropped by your office.

(yesterday)



EEEE]

. =0 22|2E 90 2= FIIAL. ( Tt --- that
~1 X == EHEE A)
[V} 2= O]l LiA| 2L 2 242 HI= 30| AUCE.]
= |t was the flowers that he sent me
this morning.
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I Twith + JAHF) + F-EAHEZAH I =
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BTAHT)2A 2A2 HHIL TTE = HIZ AL
=, SAHA)Y EAL HA I +=FTE = U4AHZE

with + HAFR + A}
Don't speak with your mouth full.

ol SAS JIS $& A 2OX| Ot




with + HA[F + A}
He stood there with his hat off.

1= BXE 22 ME HIO] M AR

with + @A} + ZX[AL
The girl spoke with tears in her eyes.

0 21E =0l E2& SYHADM UL

{




with + APt + SXHZE AL

She drove her car with her long hair
blowing in the wind.

SAZH=ZA}: her long hairZ} 92|31 QICEE S5

= HEE Higol E8l= M XIE & UL

W7{Z2AL: its leg= B
with + HA[T + 1712 A} 2{Zl AEJO| B2 =

The bird flew away with its leg broken.
d M= a2t 2HE X ZE oIt HRIL.
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1. WHZAI2| BEH2t 2|0
WHZE AL BAE +=20t=
2| 2|0|E LIEIES L.

1
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74

P o= O
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2. WHEAIS] BAL =2
WHZAPE=CE TAE sHE M= TAL
o UL,

The most shocked person by the news
was Michael. I

240 OFg TA8& 22 AIEE Michaelo|RL.



LHE AL SXOIL $A0| TS U = B
M-.—IOII SLCL O] ZLE WHEAIL TH 4T

X| =41)0|2tT L Ct

Look at the box fl|||9d with toys.
eSS
THELE 7tf. &t X YXIE 2ot

| have a pen made in France.
s
L= ﬂ%**OIIM ot=SO0{Z!l HOo| OiL} QUL
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FAIQ §RIOIE SPEE SR MEX SR U
|C}.

OHE X S8 BEAIKE BAIC] 2O|LL FHOA] B
ALS Z=ABHL|CY

A Tl CWHEBAIR FAL A O] SHYE F RO O T
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He looked much worried.

=2 5H0{: 30{2l heo| AEHS M

1= 9730 ZT L0 BEAL.

SHMA H0: SH0{2 my
housel| AIEIE M

| want my house painted white.

ook

Li= OfQF MO 2 MO|ZI L ZQ QUBHCL,

ook



EEEE]

1. OIS 5 WjIM %2 AE J1EA 2.

(1) Don't come in with your clothes (dirty,
dirtying). &EA}

(2) She was sitting on her chair with her
legs (crossed, crossing). Z7{=At

(3) The old woman sat reading with her
dog (slept, sleeping) beside her.&xl=Al
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EEEE]

2. 2 olo| EloiE 22 HEIS 0| A7, 1 Melo|
LIHX| "Wt CHE SHiLHS a1=H?
@ This is a knife made_in Germany.(make)
J@ The woman __holding  a baby is my aunt.(hold)
® This is a film _produced jn Korea.(produce)
@ | have some books _Wiitien jn Chinese.(write)
® The bank is a famous building _built _ thirty
years ago. (build)
©
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. FOE RE|2E 0 EH2E &I A2,
[-gilio = AlslZEI ZEl2|7} Ol Of|uLCt. ]
= [he fence painted in yellow is very pretty.
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ety EH
| have two daughters who can speak
English well.

= FOUR OR o= W WY Ck
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| have two daughters, who can speak
English well.
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We like the teacher, that is very humorous.
X — who= .T'_i=|0|: ?:.I‘

28|= 1 MYHS FOIOH=O, = 1S S| ACLLL,




2. &% §EO Syl M
A& SEol BT A

HA B AL &0l S0Ht LH, MBA| LSt
2E 10| EULL

E5AL+ QB ALE B &S = /}ASULL

SSA=E S0 Mt HE0HH ME UL

©



EHAl S5A2| 222
and | 2 =0 A= 0l0iX|= LIS O At e
but of =i} Hicho| LHES S mj Al=et
for o =0l cliet O|+= LIELSE U AlS et

| met an old man, who asked me where
the bus stop was. ~2"9"®
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Yesterday | bought a blouse, which was
too small for me. = but it
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| like Jimmy, who Is smart and handsome.
= for he
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| wonder. + Does he know about the
broken window?
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= | wonder if[whether] he knows about
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= | wonder iff[whether] he knows about
the broken window or not.

= | wonder whether or not he knows about
the broken window.

L= 71 T {20l ol &1 U=X IS 0HH.

% | wonder if or not he knows about the broken window. (X)
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(1) Everyone likes the woman, that is very
sensible. that —» who

(2) | wonder if or not he knows about his
math score. if — whether
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(1) He bought a new computer, which was
very expensive.

= He bought a new computer, and it
was very expensive.

(2) They watched the movie, which they
found boring.

= They watched the movie, but they
found it boring. @
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(3) Everyone likes Betty, who is very kind
and beautiful.

= Everyone likes Betty, for she is
very kind and beautiful.
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[l wonder. + Does he like you?]
= | wonder _lff[whether] he likes you.
= | wonder _If[whether] he likes you or not
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